2x+y=0

x—2y=3

x=y+3

x =2y

2x+y="7



2. S HM5x-y-4=0%ax+y=122 wFo] &7} (2,b) &
a,b 9] = 77} obH?

D a=-3,b=6 @ a=3,b=6
®a=3,b=-6 @ a=-3,b=-6

® a=-2.b=-6



agwga {27778 s oo 2 e wgold. A
3x+2y = ©

of Qrere .27

Ggyol Bt Edy=[ A |--©

©2 Ol ustel B 3xr2] A ] =5

SooX =

= JE @l destay [ ]

© x-4 @ -x-4 ® 2x+38

@ 2x -8 B —2x+8






ﬂ
K

min

1
6
04x—-0.1y=14

il

3

il

a3



6x-3y=9






e 817k (1, 2) 7h sk ol

@ 10 ® 14



9.

)

@® (2, 1)
@ (3, 1)

@ (1, 2)
® (2, 2)

AAa x, yoll thstod 2x+y =5, x+y =42 o, AHLTA 2 9] 5

® (1 3)

=

il



10.

dHY A

(a+1)x—2y=6
2x — by = 4

@D 2

Al
2

x=-y=3
2x-3y=4

o o 7

E WEAZ W a+b 9] G20



W a+ b O F2?

D -1 @ 0

o g 71



95z qo 58 o 4 az
AZ WA y— 47 H9Th o]n), 00] e Fatolar

e
-



ANA x o] gte F-steiet.






o_e

A 2%x+y+1=6x+2=5x—y—2

H4rA
tof et

S

[e]

H

Sl
7

15.



2 3y =
16. a0 { TV T ot aate) opg o o 22
6x +ay =10

a7 @ 8 3 9 @ 10 A 11



:z o] a7} (2, 3) € W, a,b 9] A= 5}




X

S HER B Eof
TR AR B3 EGET

© 419 x| A%
2

o
=



<
TF
1l
—~—~N
~ =
| |
==
NaFNA
™ AN
Lo
—_ =
ENEREN
+ +
==
S~—
[a\ e
——

:—4,)):—2

@ x

DO x=4,y=-2

® x

@ x=2 y=-2

-4, y=2

=4

:—2’ y

® x



o_e

A 2%x+y+1=6x+2=5x—y—2

H4rA
tof et

S

[e]

H

Sl
7

20.

.

Ul



